Sec 4.4.3
Solving Logarithmic Equations

bggx = 5 g (4x+1) =5

5= % 25':;n<+l\
_ = 44X+
Lt

0g = number ---> rewrite ds a power



74+ nx =B | Isolate log/In
2. Rewrite as a
S Inx=" | power
On¥=" '/3 3 Sglve resutting
quation.
I3 _
0, =X ~—2eM00F

7w



x4 = | | Isolate log/In
A Rewrile
= /\} 4+ 3. Solve
- al 4 Check for
2
0 = X+ ‘} extraneous

o - 4=X ok
3,89

exacl and approximale




0g3(x+6) * logz(x+4) = | | Condense to
a single log
,OAWﬁ (X%X)G—‘D - | 2 Rewrite
2 3. Solve
4. Check
B= )(Z—I— 0X4 24 =
O =X+ |0 +24]
+7>(x+ 3)

ttkThl | of axnegative M



==
e =



log (3x-3) = log (x*1) + log 4 Logs on

o(363)= 940+ T

to one on

-3 = 4X‘*’Af each, then

sel

— 774\)( arguments
| equal
nw




Suggested Practice
Sec 4.4 page 490
49-92
every other odd

These problems have various
nuances...small changes
throughout. I suggest trying
every suggested, and
especially several from
83-92.



49-92 every other odd.




